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J/mold K J/mol0 K J/mol0 K
gboobd He 20.79 12.47 8.32
OO00o0obDO Ar 20.79 12.47 8.32
obooood Hy 28.84 20.53 8.31
O0O0000 Ny 29.12 20.81 8.31
OO00000 Oy 29.36 21.05 8.31
OOoooog Clg 33.93 25.93 8.40
OOoooog COq 37.13 28.81 8.32
000000 NHs 35.66 27.35 8.31
OO0O0O000 CHy 35.71 27.40 8.31
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100 K 298.15 K
00000000 Al 13.04 24.34
00000000 Ca 19.50 26.28
00000000 Au 21.41 25.38
00000000 He 24.25 27.98 (O)
0Doooooooc 0.247 6.115
00000 CgO C 1.61 8.75
00000000 Fe 12.05 24.97
00000000 Cu 16.00 24.45
(O0) 0000000 (J/g0K)
00000000000 41793 (250)
00000000000 1.1-2.0 (200 — 1000
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00o0o000 00000 6p (K)
00000000 Al 428
00000000 Ca 230
00000000 Au 165
00000000 Hg 71.9
00000000 cC 2230
00000000 Fe 467
00000000 Cu 343
00000000 3He 16

03:000000000(000000)0ooooOoO



